5 5 09,5 T 5003 (¢yl3

3=l9 53 (6599)95 09,5 Hhliws ;1,85 34 jgua> b 1400 olo vidwl @Sy 9 Caumws (558)9)85 69,5 (SunT (5901

A )l3S 50 5oy Sy SIS AL (Sl lee ik 9 GBS « (Bjgel 3y b Lo ©)lee ikia
Sl JSTe cule, b Sselsye 09,5 Ullws 5l a5 34 j0a> L 1400 olo siswl oS5 8 cnuss S3ale,05 09,5 Sl wgojl
wwle obs slacl g (s> 335 pils 09,5 waass Gujgel Ugles jea> b 9 cugi 95 55 (neloaxl 5138 alold g siblags
5035 Sy 8Sauls il Sldylpo i 9 Gudely « Uigel 550 il S wslpe Yuziw A9 5> Siglese 09,5
s 5158 5

9 po-w Jlw 0l,Liws Sl oSyl 17 1 095 wugi 53 9 095 9 Jgl Jlw Olylucws Sy oSyl 17 b Jgl caugs 5> wgosl ol

A olodl @ 12:00 cuclw a farvad 8:15 caclw wly aoliv . aub aS sa 00ud « a>lib 0.le>

st

Ao
|

2 |1 axivo ITShams.ir - Guadds JUy jl 438)S )48


https://skill.tbzmed.ac.ir/News/189/

? |2 axivo ITShams.ir - Guadds JUy jl 438)S )48



? |3 axivo ITShams.ir - Guadds JUy jl 438)S )48



